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Question Number : 1 Question Id : 3419794767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Spot the error in the following sentence.

Rahul 1s often coming/to me/on Sunday

(1) 2) )

Options:



3 Only 1
Only 2
Only 3

=

_ No Emror

e

Question Number : 2 Question Id : 3419794768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Spot the error in the following sentence.

Sheela just /completed the/ letter then.

(1) (2) (3)

Options:

; Only 1
, Only2
s Only 3

4 INo Error

Question Number : 3 Question Id : 3419794769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Spot the error in the following sentence.
I enquired of him/ why he is so negligent/ in his studies

(1) (2) (3)
Options:
, Only 1
g Both 2 and 3

- Only 3

i No Ermror



Question Number : 4 Question Id : 3419794770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find correct sequence of sentence;

P: voungsters i the cifies and the villages 1s very bad
Q: The effect

R: of the cinema

S: on school and college going

Options:

. PRQS
, QRSP

- QPSR

. RQSP

Question Number : 5 Question Id : 3419794771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find correct sequence of sentence:

P. I have not come to complain he said.
Q. even if it means some humiliation
R. but the boy must learn to be honest
S. and must admit that he had broken 1t

Options:
. PQRS
» QRPS

_ QPRS

, PRQS

Question Number : 6 Question Id : 3419794772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Find the correct sequence of sentences:

P: to protect vegetables from cold

Q: in view of the prevailing weather conditions
R: farmers to smoke their fields during the night

S: agricultural experts have advised
Options:

, PRQS
, QSRP

5 RPSQ

, SPQR

Question Number : 7 Question Id : 3419794773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Identify the Synonym of ABANDON from the below words.

Options:
j, LT

- Join
- Keep with

. Forsake

Question Number : 8 Question Id : 3419794774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Identify the Synonym of ABSTAIN from the below words.

Options:

1 Consume

. Ingest

o Take in



4 Reframn

Question Number : 9 Question Id : 3419794775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Identify the Synonym of ACCORD from the below words.
Options:
, Opposition

- Refusal
5 Dissension

g Confer

Question Number : 10 Question Id : 3419794776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Identify the Antonym of CANDID from the below words
Options:

. Bluff

o Devious
. Equal

4 Blunt

Question Number : 11 Question Id : 3419794777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Identify the Antonym of AMENABLE from the below words

Options:
, Uncooperative

55 Persuadable

- Biddable



i Docile

Question Number : 12 Question Id : 3419794778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the Antonym of SQUEAK from the bellow words

Options:

; ' Cheep
> Creak
- Silence

4 Cry

Question Number : 13 Question Id : 3419794779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct alternative which can be substituted for the below given word/

Sentence.

To hold one's tongue

Options:

. to support

. W mterfere i one's work
= to msult someone

, o keep quite

Question Number : 14 Question Id : 3419794780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the appropriate meaning of the idiom:

Make up one's mind
Options:
~ to be prepared

1

, to make someone happy



- make a decision

4 To criticize someone

Question Number : 15 Question Id : 3419794781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the appropriate meaning of the phrase:
To read between the lines

Options:

, toleam slowly

- to have good sight

5 to leamn quickly

o understand the hidden meaning

Question Number : 16 Question Id : 3419794782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the option which gives correct meaning of the given idiom/phrase.

To weather the storm
Options:
, unsuccessful attempt

> create difficulty for others
5 victim of crisis

4, survive a difficult situation

Question Number : 17 Question Id : 3419794783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the option which gives correct meaning of the given idiom/phrase.

A man of straw
Options:
; aworthy fellow



- A Very active man
- a man of no substance

4 a selfish person

Question Number : 18 Question Id : 3419794784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the following sentences with the most appropriate words/phrases with

reference to grammar. idioms. proverbs and syntax.
Like a fish
Options:
. Out of aquarium

5 Out of water
3 Out of sea

4, Out of ocean

Question Number : 19 Question Id : 3419794785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the following sentences with the most appropriate words/phrases with

reference to grammar, idioms. proverbs and syntax.

She did not want to show white feathers in the face of a tough mathematics paper at the
board exam so she did not leave the hall.

Options:

1 Show she was scared

, Show she was happy
. Show she was proud

i None

Question Number : 20 Question Id : 3419794786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Complete the following sentences with the most appropriate words/phrases with
reference to grammar. idioms. proverbs and syntax.

Birds of same feather
Options:

, My together

, flock together
. dance together

, tweet together

Question Number : 21 Question Id : 3419794787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Following is a set of four sentences. Choose the sentence which i1s most appropriate
- grammatically. semantically and logically.

Options:

, Hi Harish. Long time no see. How was 1t going?

. Hi Harish. We haven’t meet in a long time. How is it going?
- Hi Harish. We haven’t met in a long time. How is it going?

, Hi Harish. Long time no meet. How has it been going?

Question Number : 22 Question Id : 3419794788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Following is a set of four sentences. Choose the sentence which 1s most appropriate —
grammatically. semantically and logically.

Options:

This site will give at least several no-follow links to your blogs and site from you
, articles.

This site allows you to give several no-follow links to your blogs and site from your
3 articles.



This site allow you to give several no-follow links to your blogs and site form your

. articles.

4 You can get several no-follow link to your blog and site from this article.

Question Number : 23 Question Id : 3419794789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Only if business continues to expand can it enough new jobs to make up for those
that will be by automation. (Fill the blanks with appropriate words)

Options:
1 produce. required

: invent. mtroduced

= create, eliminated

repeal. reduced
4

Question Number : 24 Question Id : 3419794790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The officer has stayed away from populism such as raising the imcome tax
exemption limit. (Fill the blank with appropriate word)
Options:

i restricted

: classified

= overt

i furtive

Question Number : 25 Question Id : 3419794791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The government must now its seriousness by moving away from the
policies of the past. (Fill the blanks with appropriate words)

Options:



, eNsCcoIce. conscientious

masquerade. equitable
Z.

- shelter. scrupulous

i demonstrate. flawed

Sub-Section Number: 2
Sub-Section 1d: 34197964
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 3419794792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Where is the permanent secretariat of the SAARC?

Options:
] Kathamandu

5 New Delhi

- Islamabad

4 Colombo

Question Number : 27 Question Id : 3419794793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
Who among the following got the Bharat Ratna award before becoming the president of
India?
Options:
. R. Venkataraman

, Dr. Rajendra Prasad

. Dr. Zakir Hussian



, V'V. Giri

Question Number : 28 Question Id : 3419794794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
World Health day 1s observed on?

Options:

1 3 April
4% April
2
5% April
3

7 April
4

Question Number : 29 Question Id : 3419794795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What i1s the name of India’s first nuclear reactor?

Options:
1 Cirius

, Apsara
. Dhruva

y Kamini

Question Number : 30 Question Id : 3419794796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following European countries is known as the ‘Land of a thousand lakes™ ?
Options:

, Norway

) Sweden



g Finland

y Estonia

Question Number : 31 Question Id : 3419794797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of these places is not located in Mumbai?
Options:

; The Victoria Memorial

, The Gateway of India
= The Kamala Nehru Park

" The Juhu Beach

Question Number : 32 Question Id : 3419794798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Kisan Ghat in Delhi 1s the memorial ground of which famous leader?

Options:
; Charan Singh

) Rajiv Gandhi

o agjivan Ram

" Mahatma Gandhi

Question Number : 33 Question Id : 3419794799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete this Sunderlal Bahuguna phrase which he coined during the Chipko
Movement: “Ecology i1s permanent

Options:
, Economy



" Sociology
- Biology

, Geography

Question Number : 34 Question Id : 3419794800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Entomology is the science that studies

Options:

. Behavior of human beings

, Insects
., The origin and history of technical and scientific terms

The formation of rock
4.

Question Number : 35 Question Id : 3419794801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
B. C. Rov Award 1s given in the field of

Options:
, Music

) Journalism
3 Medicine

" Environment

Question Number : 36 Question Id : 3419794802 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When 1s the International Yoga Day celebrated?

Options:



1 June 21
March 21

5

o April 22

, May 31

Question Number : 37 Question Id : 3419794803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who mtroduced 'Green Army' for environment conservation?

Options:

] Japan

- China
- Australia

5 Egypt

Question Number : 38 Question Id : 3419794804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which 1s the largest commercial bank in India?
Options:

1 Reserve Bank of India

- State Bank of India

. ICICI Bank

Bank of India
4,

Question Number : 39 Question Id : 3419794805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Satellite launching station is located at



Options:
) Sriharikotta

- Bhopal

5 Salem

. Bhubaneswar

Question Number : 40 Question Id : 3419794806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The 'Black flag' signifies

Options:
, revolution/danger

, beace
. protest

4 truce

Question Number : 41 Question Id : 3419794807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If 15% of P 1s same as 21% of Q. then 12.5% of P is equal to what per cent of Q?
Options:

| 20%

Question Number : 42 Question Id : 3419794808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
13215307



Options:
, 251

181

z.

< 175

, 221

Question Number : 43 Question Id : 3419794809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If 3 men can do a work in 2 days and 4 boys can do the same work in 6 days. then in
how many days will the same work be completed by 8 men and 8 boys?

Options:

, /2 days

TJJ

/5 days

(]
L
o=
a0
e
Wil

Question Number : 44 Question Id : 3419794810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
8 1s 5 percent of which of the following numbers?
Options:

, 140

5130

. 160

5 170

Question Number : 45 Question Id : 3419794811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A sum of money is to be distributed among A, B, C. and D in the proportion of 5: 2: 4:
3. If C gets Rs. 2.000 more than B. what is B's share?

Options:

. Rs.9.000

Rs.5.000
2

. Rs.4.000

Rs.2.000
4,

Question Number : 46 Question Id : 3419794812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In the first 10 overs of a cricket game. the run rate was only 4. What should be the run
rate in the remaining 40 overs to reach the target of 300 runs?
Options:
6.5
3,

Question Number : 47 Question Id : 3419794813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A bag contains 12 yellow. 23 green and 32 blue balls. One ball is drawn at random.
What is the probability that the ball drawn is green?

Options:

. 12/67

2

/6

)
L |

Lok
b
o
—1

35/67



Question Number : 48 Question Id : 3419794814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A die is rolled twice. What 1s the probability of getting a sum equal to 9?
Options:

L 203

Question Number : 49 Question Id : 3419794815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Three coins are tossed. What 1s the probability of getting at most two tails?

Options:
1. /8

1/8
2

Question Number : 50 Question Id : 3419794816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Two numbers are in the ratio 3 : 4. If their L.C.M. 1s 24. what 1s sum of the numbers?
Options:

, 12

A
2_]3

. 10

¥

Question Number : 51 Question Id : 3419794817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is the greatest number of four digits which is divisible by 15. 25, 40 and 75 ?

Options:

, 2.800

9.500
_ 9.400

, 2.600

Question Number : 52 Question Id : 3419794818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The price of 80 apples is equal to that of 120 oranges. The price of 60 apples and 75

oranges together i1s Rs. 1320. The total price of an apple and one oranges is.......
Options:

. Rs.30
, Rs.20
. Rs. 15

Rs. 18
4,

Question Number : 53 Question Id : 3419794819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The price of 3 tables and 4 chairs i1s Rs. 3.300. With the same money one can buy 2

tables and 10 chairs. If one wants to buy 5 tables and 8 chairs. how much does he need
to pay?

Options:

. Rs.9.400

5 Rs. 7.600

Rs. 8.040
3.



, Rs.9.500

Question Number : 54 Question Id : 3419794820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A number when divided by 3 leaves a remainder 1. When the same number is divided by
7 leaves a remainder 4. What will be the remainder when the number is divided by 6?

Options:

Question Number : 55 Question Id : 3419794821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A number when divided by 6 leaves a remainder 3. When the square of the same number

1s divided by 6. the remainder is:
Options:

1.4

> 1

-2

Ll

Question Number : 56 Question Id : 3419794822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Average of first 40 natural numbers 1s

Options:
M) S5
, 20.5

> 18

195



.19

Question Number : 57 Question Id : 3419794823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The average weight of 30 students is 29 kg. By the admission of a new student,
the average weight is reduced to 28.75 kg. The weight of the new student is

Options:
21.25ke

20 kg

Question Number : 58 Question Id : 3419794824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The profit obtained by selling an article for Rs. 56 1s the same as the loss obtained
by selling 1t for Rs. 42. What is the cost price of the article?

Options:

, Rs. 40

Rs. 50
2

. Rs. 49

, Rs. 48

Question Number : 59 Question Id : 3419794825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A cycle is bought for Rs.900 and sold for Rs.1.080, find the gain percent?

Options:

, 16%

25%
2. — & E.



Question Number : 60 Question Id : 3419794826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The cost price of a radio is Rs.1.500 and it was sold for Rs.1.230. find the loss percent?
Options:

18%
1:;

Question Number : 61 Question Id : 3419794827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Rs.1.000 1s to be divided among A, B and C so that A gets twice as B and B gets thrice
as C. The share of C will be

Options:

) Rs.600

> Rs.300

- Rs.200

, Rs.100

Question Number : 62 Question Id : 3419794828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The total area of a circle and a square is equal to 5,450 sq.cm. The radius of the circle 1s
35 Cms. What is the perimeter of the square?

Options:

; 190 cm



5 180 cm

s 160 cm

i 140 cm

Question Number : 63 Question Id : 3419794829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
If the three sides of a triangle are 26 cm. 24 ¢cm and 10 cm, what 1s 1ts area of triangle?
Options:

120 cm?
1.

130 cm?
2.

3 2
z 312 cm

315 cm?
4

Question Number : 64 Question Id : 3419794830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
The sides of a rectangle are in the ratio 4:3 and 1ts area 1s 972sq.m find the perimeter of
rectangle?
Options:

] 120m

. 122m

5 124m

4 126m

Question Number : 65 Question Id : 3419794831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Suresh and Rahul started a business by investing Rs 85.000 and 15,000 respectively. In

what ratio the profit earned after 2 years be divided between Suresh and Rahul

respectively.



Options:

1%l

17:2
2

Question Number : 66 Question Id : 3419794832 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Srinivas, Saidulu and Mattaiah invested in a partnership in the ratio of 5: 6: 8. The ratio
of their profit is 5 : 3: 12. Find the ratio of time for their investment?
Options:
1:3:5

i
r_“
LA

Question Number : 67 Question Id : 3419794833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A boat goes 40 km upstream in 8 hours and a distance of 49 ki downstream in 7 hours.
The speed of the boat in still water 1s

Options:

, 5 kmph
, 6 kmph
5 6.5 kmph

4 8 kmph

Question Number : 68 Question Id : 3419794834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

In an examination, 50% of the students passed in Science and 75% passed 1n Social.
while 20% students failed in both the subjects. If 270 students passed in both subjects.
find the total number of students who appeared m the exam?

Options:

400

Question Number : 69 Question Id : 3419794835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In an examination 70% candidates passed in prelims and 55% candidates passed in

Mains. If 62% candidates passed in both these subjects. then what per cent of candidates

failed in both the exams
Options:

as
, 3%

Question Number : 70 Question Id : 3419794836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Two trains 200 m and 160 m long. run at the rate of 60 knvh and 100 kivh respectively
on parallel rails. How long will it take a man sitting in the second train to pass the first
train if they run in the opposite direction?

Options:
4.4 seconds



5 4.5 seconds

> 3.24 seconds

4 seconds
4,

Question Number : 71 Question Id : 3419794837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In a certamn code LAWN 1s written as JCUP. How will SLIT be coded in that code?

Options:

. QNGV
_ QIGV

QNVG
=

NIGV
4

Question Number : 72 Question Id : 3419794838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In a certain code CONCISE i1s written as FTJIBBNM. How 1s FISHERY written in that
code?

Options:

| ZSFIGIT

, ZSFGIHR

. ZSFGEHR

i ZSFEHGR

Question Number : 73 Question Id : 3419794839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A man walks 1 km towards East and then he turns to South and walks 5 km. Again he

turns to East and walks 2 km. after this he turns to North and walks 9 k. Now. how
far 1s he from his starting point?



Options:

; 3km
, 4km

5 km
=,

. 7 ki

Question Number : 74 Question Id : 3419794840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Pramod went 15 kms to the west from my house, then turned left and walked

20 kms. He then turned East and walked 25 ks and finally turning left covered

20 kms. How far was he from his house?
Options:

| S ki

1

10 km
5

2 40 ki

80 km
4,

Question Number : 75 Question Id : 3419794841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the correct alternatives.

Amnesia: Memory:: Paralysis: ?
Options:

) Movement

, L1mbs
; Handicapped

N Legs



Question Number : 76 Question Id : 3419794842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the coirect alternative.

Airplane: Cockpit:: Tram:?
Options:
) Wagon

., Coach
., Compartment

Engine
4

Question Number : 77 Question Id : 3419794843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the correct alternative.

Radio: Listener: : Film:?

Options:
, Producer

5 Actor
Viewer
&3

J Director

Question Number : 78 Question Id : 3419794844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill the following series.

2. 12, 36, 80. 150, %
Options:

250
.,

252
2



Question Number : 79 Question Id : 3419794845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the following series.
4.-8.16.-32.64.7

Options:

128
1.

190

192
2

-128

4

Question Number : 80 Question Id : 3419794846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Fill the following series.
3,12,27,.48,75, 108, ?

Options:

| 147
183

2.

. 162

192
4,

Question Number : 81 Question Id : 3419794847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find the odd one out

Options:



. : rusade
-, Expedition
2 Cruise

. Campaign

Question Number : 82 Question Id : 3419794848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find the odd one out.

Options:
, Water

5 Mist
- Cloud

» Fog

Question Number : 83 Question Id : 3419794849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find the odd one out.

Options:

1 Circle : Arc

Chair : Leg
5 £
o Flower : Petal

. Cover : Page

Question Number : 84 Question Id : 3419794850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Pointing to a man in a photograph. a woman said. "His brother's father is the only son of
my grandfather." How is the woman related to the man in the photograph?



Options:
] Sister

5 Aunt
" Grandmother

’ Daughter

Question Number : 85 Question Id : 3419794851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Pointing to a boy in the photograph Rajani said. “He is the only son of the only child of

my grandfather”. How Rajani is related to that boy?
Options:
, Aunt

Sister
2,
o Mother

4. Niece

Question Number : 86 Question Id : 3419794852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Pointing towards a person, a man said to a woman, “His mother is the only daughter of

your father.” How is the woman related to that person?

Options:
1 Sister

Daughter
2,

Mother
3

Wife
4.



Question Number : 87 Question Id : 3419794853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Find the statement that must be true according to the given information.

When they heard news of the hwrricane. Maya and Julian decided to change their
vacation plans. Instead of traveling to the island beach resort. they booked a room at a

fancy new spa in the mountains. Their plans were a bit more expensive, but they'd heard

wonderful things about the spa and they were relieved to find availability on such short
notice.

Options:

, Maya and Julian take beach vacations every year.

, The spa is overpriced.
- It 1s usually necessary to book at least six months in advance at the spa.

, Maya and Julian decided to change their vacation plans because of the hurricane.

Question Number : 88 Question Id : 3419794854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find the statement that must be true according to the given information.

On weekends. Mr. Sanchez spends many hours working in his vegetable and flower
gardens. Mrs. Sanchez spends her free time reading and listening to classical music.

Both Mr. Sanchez and Mrs. Sanchez like to cook.
Options:

; Mr. Sanchez enjoys planting and growing vegetables.
, M. Sanchez does not like classical music.

5 Mrs. Sanchez cooks the vegetables that Mr. Sanchez grows.

, Mrs. Sanchez enjoys reading nineteenth century novels.

Question Number : 89 Question Id : 3419794855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Find the statement that must be true according to the given information.

Ten new television shows appeared during the month of September. Five of the shows
were sitcoms. three were hour-long dramas. and two were news-magazine shows. By
January. only seven of these new shows were still on the air. Five of the shows that
remained were sitcoms.

Options:
, Only one of the news-magazine shows remained on the air.

, Only one of the hour-long dramas remained on the air.
- At least one of the shows that was cancelled was an hour-long drama.

4, Television viewers prefer sitcoms over hour-long dramas.

Question Number : 90 Question Id : 3419794856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1. Manasa runs faster than Geeta.

11. Lalita runs faster than Manasa.
111. Geeta runs faster than Lalita.

If the first two statements are true. the third statement 1s
Options:
, true

" false

- uncertain

4, Inconsistent data

Question Number : 91 Question Id : 3419794857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

i. All the offices on the 10® floor have wall-to-wall carpeting.
11. No wall-to-wall carpeting 1s pink.
iii. None of the offices on the 10® floor has pink wall-to-wall carpeting.

If the first two statements are true. the third statement 1s

Options:



; true
- false

> uncertain

4 Inconsistent data

Question Number : 92 Question Id : 3419794858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1. Class A has a higher enrollment than Class B.

11. Class C has a lower enrollment than Class B.
i11. Class A has a lower enrollment than Class C.

If the first two statements are true. the third statement 1s

Options:
L e

- false

- uncertain

5 mmconsistent data

Question Number : 93 Question Id : 3419794859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In these series. you will be looking at both the letter pattern and the number pattern. Fill
the blank in the middle of the series or end of the series.

SCD, TEF, UGH, . WKL

Options:

. CMN

UJI
2

o Vil

LT
4,



Question Number : 94 Question Id : 3419794860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In these series. you will be looking at both the letter pattern and the number pattern. Fill
the blank in the middle of the series or end of the series.

B2CD, . BCD4, B5CD. BC6D

Options:

. B2C2D
, BC3D
. B2C3D

, BCD7

Question Number : 95 Question Id : 3419794861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In these series. you will be looking at both the letter pattern and the number pattern. Fill
the blank in the middle of the series or end of the series.

CMM. EOO. GQQ, . KUU

Options:

, GRR

, GSS
. 1SS

Pt

Question Number : 96 Question Id : 3419794862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Find the logical relationship of words and associations.

Window is to pane as book i1s to.............

Options:

: novel



, glass
3 COVEr

i B

Question Number : 97 Question Id : 3419794863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Find the logical relationship of words and associations.

Cup is to coffee as bowlisto..............

Options:

. dish
o food

- Spoon

SOu
4. p

Question Number : 98 Question Id : 3419794864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find the logical relationship of words and associations.

Yard is to inch as quart is to...........

Options:

gallon
1

3
5 ouce

5 mlk

. liquuid

Question Number : 99 Question Id : 3419794865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Assume everything in the statement to be true and on the basis of the information given
in the statement, decide which of the suggested courses of action logically follow(s) for
pursuing.

Statement: A large number of people in ward X of the city are diagnosed to be
suffering from a fatal malaria type.

Courses of Action:

I The city municipal authority should take immediate steps to carry out
extensive fumigation in ward X.
2 The people in the area should be advised to take steps to avoid mosquito
bites.
Options:

; Only I follows

> Only II follows

- Neither I nor II follows

4 Both I and IT follow

Question Number : 100 Question Id : 3419794866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Assume everything in the statement to be true and on the basis of the information given i
the statement, decide which of the suggested courses of action logically follow(s) for
pursuing.

Statement: Severe drought 1s reported to have set in several parts of the country.

Courses of Action:

1. Government should immediately make arrangement for providing financial assistance to
those affected.
2. Food, water and fodder should immediately be sent to all these areas to save the people and

cattle.
Options:

; Only I follows

5 Only II follows



- Neither I nor IT follows

. Both I and IT follow



